F EE L=
EENRERE 255%E (254H~255%7AR)
1.
AEAH 4/13 5/19 6/8 7/13
AR 8:20 7:50 8:14 8:20
Kz BEh BEh BEh STEY
LB °C 11.0 20.2 22.8 29.4
KiE °C 12.0 21.8 25.0 29.2
AR 2] 2] — 2]
B 2 1 0 1
KL cm 0 -8 -17 -21
e 2 2 1 1
BIEE cm 93 >100 >100 >100
LB T CBEEL|KIDLELECE I [ KEDUB-ECTLE [ KEEABR->CERENES
93emTLT =, ha&rpia  |CTLIZA EREE100m | A, BHEL100emU EH|IFKR A, DLEASFZBELT
RENTOELL, /Sy |REBYELE KEAE  |YEL, BEOKEFE, [LEAEADEXFKEA
D22 =k BCODIEEp |F2TH0 FHICLRIC [ROBIEAELAN 5D |RA  BREL100omblE
T Lh . [AOESIHELERRE [FESERECEOTEL |BYELE, BRICERLE
pmTL7=, (EE: DEDSAUNRZELE, |t Rt BRI GEES | EE,SFEEREE
#H | = T 36ntu. PH:T1.EC: |- qf-hikd BolFCRAE [TL, 1809 T RMZkD  [MLELT=. /ST ANZE
e BB0IKR 18ms/m, DO:9.6mg/) |Ltz, /SvHTRMES  |CODIE8ppmEl £ EFLMET|BCODIETppmEBLMETL
CODI2ppmTL 1=, SMfifte |L7=o (B :3.0ntu, PH: t=o GREE:1.8ntu, PH: 7.7,
% HEITLTLVELE=, GEE:|75.EC:16.2ms/m, DO: EC:10.16ms/m, DO:
5 42ntu, PH:7.7. EC: 9.2mg/1) 75meg/1)

16.6ms/m, DO:7.7mg/I)

BEHE HEH BINE QF 1) ZMEDFH EEFoESS ZMEDFH
KDAY 6 8 6 8
HHID KD E 8 8 7 8
MEDOKR GESESE) 8 3 4 6
MBDKE 10 10 9 8
BN HE 10 10 9 10
7K D B fi 8 6 5 7
B& 10 10 10 9
BBD=E 8 7 8 7
= 4 4 5 5
BNEECICVEES) 4 5 4 5
it 73 70 68 72
2. EEfILEE
FEAH 4/13 5/19 6/8 7/13
5 7 B 8:55 8:15 8:44 8:45
X BN Eh B >4 EY
S8 °C 13.0 19.0 20.8 29.8
KB °C 12.7 21.5 25.5 28.9
NG i} ® ® [E2]
B A 1 2 2 2
e 2 3 2 3
BHRE om >100 97 >100 >100
LLEBOTWELELSE |BEFBo-BRLTLEE | K DLESBLEHY D LB =L TLE
BEIX100cmU EHY [BBABYELE, ot |FLEABRBSSHOTE |58 BHBASHYEGRE
ELE BYANSHA [BGRToTUELE, MU KBIOAC Ji100ombl LBy EL
ShELE. SvsFRE [ETORRAbAEE [CFVe O L [ kBT 0B ICE R
[2k%CODIX6ppmTL |SIZENVTLE. BER BHANTONEONE SN BREORBEENLE.
= fzo (BEE:32ntu, PH: |BHRLGNEL XY £, BavLe-oTst [KEFDELSIZRAEL
;; BB 0IRR 7.3, EC:16.1ms/m, UTAMZEBCODIE  |1T6Fu2EMLTNEL |fzo RIZHF/NEDY)
= DO:10.1mg/1) 3ppmTLTz, GAE: f=o 189 TAMZ&BCOD |NImEMHYELT=, /3y
it 4.7ntu, PH:8.0, EC: [F8ppmEA EEBMETL |45 2R z&BCODIE
% 19.6ms/m. DO : t=o GEE:2.4ntu, PH: 7.6, 6ppmTLT=. GBEE:
it 8.1mg/1) ECO%‘;I‘;W/WDO: 19ntu, PH:7.6. EC:
ﬁﬁ : 10.5ms/m, DO:
7.4mg/1)
RERE-RAEE ZSMEDEY SMEDEY SEDEY ZMEDEY
KDBY 9 8 9 8
HHID KD E 9 8 9 8
MEDOKR GELESE) 8 8 7 6
MBDKE 10 10 9 8
BN HE 10 10 9 9
7K D B fi 8 9 9 7
B& 10 10 10 10
BB =E 8 8 9 9
= 6 8 7 7
BNEECICVEES) 4 8 8 8
it 81 87 86 78




3. EG#tt
EERH 4/13 5/19 6/8 7/13
AR 9:30 8:40 9:10 9:15
Kz BEh BEh BEh STEY
S8 °C 11.5 19.4 21.5 29
KiE °C 13.2 215 25.3 29.1
AR 2] B E 2]
B A 4 1 2 2
; 3 3 2 3
BIEE cm 80 >100 >100 >100
AHE. DLEB->TL | KEBRABEAHYEL: |[EBEFELBLTLER |KIEDLESBECTLE
SO AL OB [CALE Ut oo, BRI B | RAHEL. Kbt 0L
15.2ms/m, DO: Foo MEDSTRICAY LUt MEASRILKWT | TOELE, AYSTIZEART
BB DK R 10.4mg/1) FRELGEDTINHY [ ELIz, /$SvIT AL B | A FAIDIEABNTUEL
5 Flfz, E—H—K—F |CODIZ6ppmEOILUBHT |12, MBEZRLNZENY
% DIVSUENEBNTL| Lz, (BE 28ntu PH:  [HEhTWELT, /8vsT
P Fltzo GBEE :45ntu, [79.EC:148ms/m.DO: | RM=&HCODIF5ppmTL
t PH:8.3, EC:16.8ms/m, |!11me/) 7;?_27?’51/3-5"53_;";33-}{)
DO:8.4mg/1) sv-ems/m, DL 8.0me
RENRE-REE SHEDEH SHNEDEY SmMEDFY SMEDEH
KDEFHY 6 10 7 7
DD KDE 8 8 7 7
MEOKRGEESE) 8 6 4 3
D KE 8 8 6 4
D HE 4 7 9 8
7K O B fik 6 5 4 4
5 9 9 8 5
BEBN=8 8 8 8 8
B 8 3 8 8
BNEECICLN=5E) 3 6 3 4
= 66 69 64 59
4. FHE
BEERH 4/13 5/19 6/8 7/13
5 7 B 10:10 9:15 9:50 9:25
Kz Eh BEh BEh STEY
S8 °C 13.0 20.0 24.0 28.8
KiE °C 12.6 19.7 245 29.1
A S D 2] el
)Eil 3 5 2 3
3 3 3 2 3
BIEE cm 91 68 79 >100
EFBoCLT. BEE |AN® EABT |[KIPLB-TVTERE |Ar‘EDLE->TND
[F91emTL =, KEIE [B-oTOTEBRE F68c |[E79omTL e ATMISH [ LS TLI AN, BELD
BGANSTOELE, [mTLE, BisaroT |BORERIFLE ME (hrpEsgtecn
1899 FAMNZEBHCOD |LWELLz, /8y I TR %olf(ﬁjiil,f_:oﬂ*‘/% iﬁibf:oiﬁﬁﬁiliwgc
[Z4ppmTLT=, (AE: |&HCODIL6ppmTLT=, TIHILFYHBNTNEL ml EHYFEL, #F
BN %kiR 3ntu, PH:7.2, EC: BUMMSELNEL |1 <upFabizescop |ISEBARSNELL,
= 15.2ms/m. DO: f=o GAE:7.2ntu. PH: |(&50pmTLT=. GBEE: Ny TAMZ&LSHCOD
- 11.9mg/1) 8.2, EC:16.6ms/m, 40ntu, PH:85, EC: [£4ppmTLTz, GEE:
&ﬂ DO:8.3mg/I) 13.6ms/m, D0O:13.6mg/l) |3.3ntu, PH:8.4, EC:
i 9.9ms/m,. DO :8.1mg/l)
RERE-AEE SMEDFEH SMEDEH SMEDEH SMEDEH
KDAFHY 6 3 6 8
HADKDE 8 3 6 8
MEDOKR GESESE) 10 8 6 8
A DKE 10 8 9 9
HEADZHE 8 9 9 10
7K D B fih 4 3 8 8
25 8 10 10 6
Epulol=3:] 9 8 8 9
B 6 8 8 8
ANEEIICVEIBE) 4 3 4 7
it 72 64 74 80




5. REHE
FEAH 4/13 5/19 6/8 7/13
SRE R 11:10 9:50 10:25 10:20
X BN Eh B >4 EY
g °C 13.0 22.8 23.0 28.2
KB °C 15.8 22.5 26.6 29.5
NG i — — [Eakii]

B A 1 0 0 5
e 2 1 1 3
BEERE cm 59 41 41 90
BoCTWTHBEEE59c [KERESE TV TER | KZLLELRICEY |ANBRIEI-TLTE
mTLIz, /Sy TR [ER4TemTLI KETO [Fim e d41omTLI. |HRELAELE, KiF
&BHCODIEsppmTLI=, [BIHRBUMBSHE g prstaimsio [@olE< ANEITNE
GBI 68ntu, PH:73, |SBU BIBRICEAL |1 k5icmotigLe, [FranssLesnm
EC:19.8ms/m, DO: WELT, FEhEEns |EVDEREIIRE L TL, BREIFI0cm
10.9mg/1) WALELE, 3ws Tz pz|FEDNTUWELEz N |TLE=. EV D RICERE
BB DIRR £BCODIE6ppmTLI=. 8 |BMBGRLTLEL  |LKENRZ VK
7R YADBLAHDNEL =, (B|f=o /S I TAMI&D | TLI. LB AHTIZED

52 E:102ntu, PH:78,EC:  |CODI&6ppmTL1z, ;B |CODIZ9me/ITL =, (B

H* 20.4ms/m. DO:6.7mg/l)  |g£ .8 2ntu, PH:8.6, EC: | B :4.2ntu, PH:8.3, EC:

/’E 19.9ms/m, DO: 13.9ms/m, DO:

10.0mg/1) 7.8mg/1)
BRERE-FHEE SMEDEY SMEDEY SmMEDFY SMEDEH
KDEY 4 2 3 2
HBLDKDE 5 3 4 3
R OIKR GERES) 8 6 5 6
A DKE 8 6 5 6
BN HEF 6 8 8 8
K 2 fi 3 3 3 3
& 10 5 10 5
BABADEE 6 8 8 8
= 6 5 6 5
BNFE(EZIISLVEE) 3 3 3 3
&it 58 48 54 48

6. EEJLILM
BERH 4/13 5/19 6/8 7/13
5 2 B 11:35 10:05 10:45 10:43
Xz Eh BEh BEh STEY
g °C 16.5 23.0 23.8 28.6
KiE °C 15.5 21.1 26.6 29.5
A 53] 53] k] Ficearic]

B 2 2 1 5

j 3 3 2 3

ERE cm 73 >100 >100 >100
KIZHLB-TWTER [ EABNHYBRER |KEDLBSFBLTLEA|EABGEE>TLTS
FEIE78emTLtz, /8w [100cm Bl LB YELYz, [BUBNHBYELL MRE| BB TLEA,
72 MZ&HCOD K dppm | KE T OEIROFA [RITEEFUELECE 1ig 1855 1k 1000m bl £ 8
TL1=, GAE:3.7ntu, |ff3EL. 7Kf)§ﬁﬁliﬁi i}-"'ﬁ?’;foﬁl,l\’cz\ill,f:o /J\?E& YELT, 7KETO)E[:
PH:7.3,EC:15.5ms/m, [FL1z. HYADSH [mpnzmsmilcing |[ERIEVENFEL.

. . DO:11.5mg/1) FLIzo NI TAMIE Lt sSwhF 2RIz |KBEDESICRZAEL

H |BIOKR 5CODIF2ppmTLYz,  [coDIE8ppmbl EEBLMET|Te 7T A RO EL

=3 (R :58ntu. PH:83, |Lf=. GBE :32ntu. PH: |f=. EZHHTIZ&BCOD

it EC:17ms/m, DO: 79.EC:157ms/m.DO:  |[&5mg/ITL =, GBEE:

AT 9.3mg/1) 11.6mg/1) 3.8ntu, PH:7.8, EC:

11.2ms/m, DO:

H 6.9mg/I)
BRERE-FHEE SMEDEY SMEDEY SMEDFY SMEDEH
KDEY 5 9 5 7
HMBLDKDE 8 9 7 6
R OIKR GEREE) 8 5 4 5
HHADKE 10 9 8 10
BN HEF 10 10 8 10
7K 2 fi 8 8 6 5
& 10 10 10 10
BEBDEE 8 8 8 8
= 5 6 6 8
BNFE(EZIISLVEE) 5 8 5 4
&it 75 83 66 73




